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Quiz 1a (20 points)




January 31, 2005
All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.

1. (6 points)  A 1.0 ounce piece of chocolate contains 15 mg of caffeine, and a 6.0 ounce cup of regular coffee contains 105 mg of caffeine.  How much chocolate would you have to consume to get as much caffeine as  you would from 2.0 cups of coffee?
2.  (8 points) A new temperature scale has been developed in which the freezing point of water is 17oN and the boiling point of water is 83oN.  

a. What is the conversion factor to change N sized degrees into C sized degrees?

b. Convert 37oC into oN. 

3.  (6 points) What is the difference between an atom’s atomic number and its mass number?
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All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.

1. (6 points)  A 1.0 ounce piece of chocolate contains 15 mg of caffeine, and a 3.0 ounce cup of espresso coffee contains 163 mg of caffeine.  How much chocolate would you have to consume to get as much caffeine as  you would from 2.0 cups of espresso?

2.  (8 points) A new temperature scale has been developed in which the freezing point of water is 45oN and the boiling point of water is 162oN.  

a. What is the conversion factor to change N sized degrees into C sized degrees?

b. Convert 37oC into oN. 

3.  (6 points) What is the difference between an atom’s atomic number and its mass number?

